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Questions

In Indian Constitution, which of the following article guarantee Right to
Education?

YR dfaum &, fafafed & 3 &F a1 srwe Rien & sifter ot
RS T 82

(A) Article 14

TG 14

(B) Article 15

TG 15

(C) Article 16

3¢ 16

(D) Article 21A

34 21A

In August 2018, which of the following country have signed second
protocol amending Comprehensive Economic Cooperation Agreement
with India?

3T 2018 H, FAgforiad & ¥ forg 321 3 YR & 1Y 31U 3l
e gHA § GNe PR el GO Hieioiel IR S&ER fbd g2

(A) Singapore
(B) Japan
SICIE

(C) Indonesia

(D) Germany

Which of the following acid is found in banana?

Fa # Fafafea & § S 91 3 U S1d1 82

(A) Citric acid
ffed st

(B) Acetic acid

Tife® 3

(C) Oxalic acid
g 3fd

Answer
Key

D)

(A)

(A) &
(B) &
(D)
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(D) Malic acid
EIRECE]

According to NABARD, All India Rural Financial Inclusion Survey 2016-
17, how much of rural income is generated by agriculture?

TETS SMRYT HRerg Urior fach THI=M Tderur 2016-17 & S9R,
forait ameoT 3 SN gRT Iafed &1 o 82

(A) 23%
(B) 40%
(C) 57%
(D) 63%

Which among the following ministry has launched Swach Survekshan
Gramin 2018?

faferiad & ¥ forg HaTerg gRT W= Ja&iur TrHIvr 2018 T AlBTH0T
far mar g2

(A) Ministry of Agriculture and Farmar's Welfare
PN YT fa™ HeTor HATa

(B) Ministry of Drinking Water and Sanitation
O S T Tl HaATerd

(C) Ministry of Rural Development

I ACEARREEI MR

(D) Ministry of Earth Science

g} fa5m darerd

In the following question, out of the four alternatives, select the alternative
which best expresses the meaning of the idiom/phrase.

Birds of a feather flock together

(A) There is strength in numbers, a team can achieve what an individual
can't.

(B) people of the same sort or with the same tastes and interests will be
found together

(C) Even if they try people cannot change their tastes or interests

(D) People will flock together when they see an opportunity

In the following question, out of the four alternatives, select the alternative
which is the best substitute of the phrase

(A)

(B)

B)

©



09-

09- Not able to be changed or reformed
2018

(A) Redeemable

(B) Cavalier

(C) Incorrigible

(D) Haughty

In the following question, a sentence has been given in Direct/Indirect
speech. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Indirect/Direct speech.

She said, '""Mother, this dress looks beautiful."

09-
205 09- 638 (A) She said to her mother that, this dress looked beautiful. B)
2018
(B) She said to her mother that, that dress looked beautiful.
(C) She said to her mother that, that dress looks beautiful.
(D) She said to her mother that, this dress looks beautiful.
The question below consists of a set of labelled sentences. Out of the four
options given, select the most logical order of the sentences to form a
coherent paragraph.
According to the steady-heating
A-in turn have a specific density
09- B-model, the coronal loop of a given
205 09- 639 C-length and temperature should (B)
2018 (A) ACB
(B) BCA
(C) CAB
(D) CBA
205 09- 640 Answer the given question based of the following passage. (A)
09-
2018 My favorite part of Saturday is walking through the city. Sometimes I

close my eyes and let Daddy’s hand guide me. When my eyes are closed, I
can hear things I don’t usually notice. I can always hear the cars honking
and the people shouting. But when my eyes are closed, I notice how the
pigeons talk to each other while they sit on the benches. I notice how the
bell on Wilson’s Grocery door sounds different than the bell at the
hardware store.

What does the writer notice only if she closes her eyes?
(A) The talking of the pigeons

(B) The honking of the cars
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(C) The shouting of the people

(D) The holding of daddy's hand

Raman sold a car to Rajat at a loss of 14.28%. Rajat sold it to Vinit ata
profit of 66.66%. If Rajat purchased the car at Rs 1400, then at what price
(in Rs) Raman bought that car?

T A XoId DI U TS 14.28% D1 1 TR & | IoTd A fa=iid !
66.66% P ATH TR ST | TS TS5 = ST 1400 T H WL, AT A I8
M fpa T (3 ) W |

(A) 1120
(B) 980
(C) 1633.33

(D) 1167.67
L, M and P can do a certain piece of work in 15, 20 and 40 days
respectively. They started the work together. M left the work after 4 days

of starting and P left the work before 3 days of completion. In how many
days the work will be completed?

L, M T P U BT B HHT: 15, 20 9UT 40 o7 A B T § 1 IBH
Tt T B IR T M, Wﬁwaﬁémﬁ:mmamf@ww
T YT P, mwaﬁénﬁ:rqﬁm@ﬁwwwmm‘%ﬁ
ﬁ?fﬁtglﬁs‘rﬁrm?

(A) 9(6/11)

(B)9(9/11)

(C) 10(5/11)

(D) 9(8/11)

In a trapezium, length of parallel sides are 10 cm and 18 cm and the length

of non-parallel sides are 6 cm and 10 cm. What will be the length (in cm)
of the line segment joining the midpoints of non-parallel sides?

Q&?Wﬂgﬂvﬂﬁ IR YST3f & awars 10 9.4 7T 18 JA. §
TUT SRR YoTraft Bt TwaTg 6 J.. auT 10 F.1ft. B 1 SRR Yomraft
& A farg &1 SIgA ara [ARIvs &1 avars (3.4, 7) @ gnfte

(A) 10
(B) 14
(€) 12
(D)8

If tan 6 = 7/12, then what will be the value of [(sin 0 + cos 0)/(3 sin 0 + 4
cos 0)]?

©

(A)

(B)

®)
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TfS tan 0 = 7/12, A [(sin O + cos 0)/(3 sin 0 + 4 cos 0)] BT HH FT GI?
(A) 17/69
(B) 19/69
(C) 17/36

(D) 17/67

Read the question given below and select the correct option.

it faq 1T U 1 ufe SIR He! fased gHu|

ks CASE QN kel

There are 5 shops L, M, N, P and R situated in city X. Each shop sell rice
and wheat only. Total sales (in Rs) of rice by these shops is 12000, 8000,
7500, 10000 and 9000 respectively. The respective ratio of sales of rice
and wheat of these shops is 24 :29,5:9,15:17,5:4 and 18 : 23
respectively. What is the total sale (in Rs) of wheat made by shop P and R
together?

Ura g L, M, N, P 94T R XeR X B fRYd 8| TP g dhad I1ad
TUT g &SIt §1 71 g gRT A19d &1 Hf fsh! (3 ) SHA:
12000, 8000, 7500, 10000 TUT 9000 & | F7 GBI I ATGA qYT g B
foPY T HHRT: AT 24:29,5:9,15: 17, 5: 4TUT 18 : 23 §1 P P
TJUT R GRT IR &1 713 78 @1 $d 9! (3 ) fadi g2

(A) 19500
(B) 20000
(C) 11000

(D) 9500

In the following question, select the related number from the given
alternatives.

23:60::47:2
frafafad oy & fou e fawenl & § Teifera Tem & gful
23:60::47:2

(A) 74

(B) 54

(C) 64

(D) 84

Rajat started walking from point P. He walked 14 km towards north and
reached point Q. He then turned right and walked 37 km to reach point R.

(A)

D)

(B)
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He turned left and walked 24 km to reach point S. He finally turned right
and walked 18 km to reach point T. What is the straight line distance (in
km) between point T and point R?

IoId A farg P ¥ T URY fohaT| a8 14 fo5 11, IR &Y SR Iar a1
forg Q TR Ugd 1| &% U Gl 3IR g1 qur 37 fob 1. =refebR fag R
tr\fu'g’%rwws'anﬁ&h?aaa%nzztﬁarﬁ IR fog s R Ugd 4T
I8 3idd: RN IR ST a1 18 fh . aaax fag TR uga M fag T
amﬁ-gm%nwvsﬁeﬂ%@gﬁ(%nﬁ ) fara 82

(A) V5165

(B) 30

(C)28

(D) V890

In a row of boys, M is at 13" position from the left end. L is standing 12
places to the right of M. R is 10 places to the left of L and two places to

the right of M. If R is at 19th position from right end, then what are total
number of boys in the row?

TSh B Th Ufdd i, M TR SR T 3T RFAWRGIL, M I 12 R
AT IR WST 81 R, L ¥ 10 RIH TRHY 3R 8 dUT M 9 &) &I giff 3R
2131 R Rl SR ¥ 199 WM WR 8, 41 Ufad H o fha- dsd &2
(A) 34

(B) 32

(©) 35

(D) 33

In the following question, select the missing number from the given series.

39, 41, 43, 47, 47,53,51, ?

faferad we # fau e fasedl # 9 g s 91d Hiferu

39,41, 43,47, 47,53,51,?

(A) 59

(B) 55

(©) 69

(D) 65

Select the correct set of mathematical operations to correct the given
equation.

38212?11474?53=-45

(D)

(A)

(D)
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38212?114?24?53=-45

(A) =+ +x
(B) X, #, -+
(C)+ = +x
(D) x, +, +, —

What will be the effect on diffusion resistance, if the collector current is
increased in hybrid-n equivalent circuit of BJT?

BIT & IR (BT36S)-n T URTY T TIEH URTH 3G 8 R
faRor ufeRiy OR o1 oruTa g

(A) It will remain same.

A B0

(B) It will increase.
(C) It will decrease.

(D) It will first increase then decrease.

Ugel g¢it ftbr Tt

Which of the following statement is not true for 555 timer?

fRoferRad ¥ ¥ &1 1 By 555 CT3HR & fod I 78t 82

(A) It is linear integrated circuit.

Tg U YW Udhidd IRTY (R SIS Ufhe) g

(B) It operates on supply voltage in free-running mode.

Tg Wt 11 TS & dieest 3Mafd ¥ &1 FHrar g

(C) It has adjustable duty-cycle.

T (TSoTe) ST Aigford 7

(D) It has high current output.
I8 3 YRT SUCH g |

Which of the following diode circuits will have the minimum ratio of DC
component to AC component present in the output signal for the same
sinusoidal input signal?

g Srre ufudi O © forg & 9am saram i Rrd & o smdeye
ﬁﬂaﬁgﬂq@’m&mm’mﬁasﬁmc&mﬁ@ﬁam&@m
TATH BT

(A) Half wave rectifier with capacitor filter

©

(B)

(D)
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TR fheex & 1Y 3ref.a¥w P RIRfReBRR)

(B) Full wave rectifier with tap-changing transformer

U SRR & 1Y gul-a¥T fepert Rfdewir)

(C) Full wave rectifier with bridge diodes

fsrst STate & Ty qoi-avw RRye i) Rfe®rR)

(D) Half wave rectifier without a capacitor filter

TS GRS fiheex & fomr v fepapRiRfdewrR)

Which one of the following loads will have a smoother curve for the
output current of the full wave rectifier?

frafafad arst 8 9§ g 3 gof-adv fapart RfdewiR) & $seye
RT & forT Uep e 1uT 9 B2

(A) R load
RATS

(B) Series RL load
Ut RL WS

(C) parallel RC load
IR RC S

(D) series RC load
Ut RC IS

A 4-bit universal shift register consists of four flip-flops and # is a 4:1 multiplexers. What
will b2 the mode of operation of registers if the input Iines are 5,5,=107

o 4-Tir gfaode e e @ ox Fow wita ¥ AR 9w T 40w
Aot 8 It sAuE @sen §5,=10 ¥ o7 Iowed & Juwem & &
gam?

(A) HOLD
(B) Shift left
e due

(C) Shift right

(D) LOAD

(B)

(B)

(B)
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Which of the following is the simplified form of the

Boolean expression
Y = ABC + ABC - ABC 7

Tefofaa # 9 o9 @ afoas @igs ™ 9t ¥9 67

¥ = ABC « AEG + ABC

(A)
Y=(A+B+C|.(A+B+C|.(A+B~+C)

(B)
Y=(A-B-C|.[A+B~C)(A+B-C|

©
Y=(A+B+C).(A+B+C|.(A+B+C]

(D)
Y=(A+B+C|.(A+B+C|.(A+B+C)

The duration of a hold mode of sample and a hold circuit is 10 seconds.
How much time will be taken by the analog/digital converter to convert
the analog signal into digital signal?

TH IS HIS JUd 3R U gics fhe & 3afy 10 s g feforea
e & AT Rirdt o1 uRafdd o & forg T/ fefored
PHAGER DI [T THT TR

(A) 10 seconds

10 ¥Fs (©)

(B) Greater than 10 seconds

10 s A 3w

(C) Less than 10 seconds

10 ¥hs J HH

(D) Cannot be determined
1 <71 feba ST Heba |

©
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Few steps of 8085 program for the addition process are shown below.

srfafes uferan & fore 8085 rane & e =vor = feme e &

MOV A, L
ADDH
MOVL, A
MWVIA 0D
ADC A
HLT

On complete execution of program, what will be the location of the final result?

bt & qut foeuree =, e oo & = @ gl

(A) Register H
H

(B) Register L
L

(C) Accumulator

TS (

(D) H-L register
H-L

A wattmeter reads 10 kW, when its current coil is connected in the R
phase and the potential coil is connected across the R and the neutral of a
balanced 400 V (RYB sequence) supply. The line current is 54V3 A. If the
potential coil is reconnected across B-Y phases with the current coil in R
phase, then the new reading of the wattmeter is nearly

U dredfier 10 fdharare gxifdr 8, 99 ST YRT 8t (Pled) R-To
T ST § 3R YUTId Heait (Pred) 3R 3R Fferd 400 V (RYB
3IIHH) STYfd & Te I IST 5 | A8 URT 543 THRR 7| Ifg Huifad
Pl (BI3A) DI B-Y Bol |, R -Tol H URT pSail (Biga) & A1y fhr
W F-iae [T T 81, oY dicHIeR &1 79T U TRTHIT g

(A) 10 kW
10

(B) 19 kW
19

(C) 32 kW
32

(D) 16 kW
16

While determining Thevenin’s resistance of a circuit,

T Uy &7 9af ufeRiey 31 & forg,

©

©
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(A) all sources must be open circuited.

T Fid, Gel IRUY BT a8 8 =8y

(B) all sources must be short circuited.

gt i, s uRuY ) ke g1 =Ry

(C) all sources must be replaced by their internal resistances.

Tt Hid, 3iiaRe ufeRly & §ed o ARy

(D) all voltage sources must be open circuited and all current sources must
be short circuited.

T} A HId Gol URTY BT e 5 1T IR Gt ¢R1 91, sia
URUY 1 a8 §H A8y

A coil with certain number of turns has a specified time constant. If the
number of turns is doubled, the time constant would

TP ool § $o i B (@) § 3R FRiEda waie g PRT) 2
ﬂﬁﬁ?ﬁm@ﬁ)ﬁmaﬁaﬁmﬂaﬁ?ﬁ PP (TTZH BT C)
&l

(A) get halved

et gt e

(B) remain unaffected

(C) become doubled

CRIGIEEI

(D) become four times

T Y STt

The common collector configuration of transistor provides

TIfORER BT BT HadeR BB USH IRAT 8|

(A) low input impedance and low output impedance

HY Y UfaaTeT R &1 33y ufaaran

(B) high input impedance and high output impedance

3ff¥rer 3ge ufdarer 3R $1fiew 3m3eye ufaaren

(C) low input impedance and high output impedance

HY Y Ul SR Sifie s3eye ufdaren

(D) high input impedance and low output impedance

31 3Tqe UfaTeT 3R HH 3MITYC fare
Which one of the following is the property of negative feedback in op-
amp?

fafafad & ¥ &9 91 T S0 & Humras gRo @Hfea
WISd®) BT 0T 82

D)

(D)

®)
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(A) Negative feedback decreases the input impedance and the bandwidth.
BUTAS GIHRU (A7 Bigd®) gqe ufaaren ok dsfagy &9 o=
g

(B) Negative feedback increases the input impedance and bandwidth.
BUTAS GIHRU (A7fed Wigdd) gYe ufdaren 3R Ssfagy 91 aar
gl

(C) Negative feedback decreases the output impedance and bandwidth.

BUTHAS GTHRU (7fed Wisdd) m3eye ufaarr 3R sefagy &0
TR A8

(D) Negative feedback does not affect the input and output impedance.

BUTHAS GIHRU (A Bigdd) STYC 3R 3HT3TYe Ufaarn o1
UIfAd el BT g |

The number of circuit element that is\\are to be changed for converting a
Colpitt’s oscillator into a Hartley’s oscillator is\\are

& Praficy e B gred Sificex # uikafdd o< & g
IRuY 3quq (Fihe Tere) dT I g

(A) one
U

(B) two

©

(C) three
Sl

(D) four
IR

In SAR (successive approximate register) type ADC, what is the change in
conversion time of converter when analog input voltage is doubled?

THUSR (TRTAR STHT IRER) TT8U TSl H, HdCR o TRl
THY § yREcH 1 Bl § S8 TATENT $9YC dlec sl QAT gl SiTell o7

A) Conversmn time becomes four times
(D)

(B) Conversion time becomes half
YR G (G-aXI TI3H) 31T 1 STl §

(C) Conversion time becomes two times

YR G (B9 <T8H) & 1 81 Wil &

(D) Conversion time remams same

TR AT (H-d3H <13H) Jat Igdl &

For acquisition of input phase by PLL, the . (A)
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PLL GRIZYC ol & fmgur s forg, |

(A) VCO (Voltage controlled oscillator) frequency is tuned with input
frequency.

Freital @rees deles siffiaey) Mgfy, 3Ye Mgfy & 9y waaRd
CRIIGI

(B) VCO phase is adjusted to input phase.
A3 ot 379 Bl B GHEIT fovar STTar ]

(C) frequency and phase of VCO is adjusted to input phase.

At B Mgy 3R B, 37Ye ol H GHRATSTT fooar ofrar 21

(D) frequency phase of input is adjusted to VCO.

ZYe HT gy ot dIRftei & THmnford farar S 8|
For which of the following parameters the linear isolated power supply is

superior to SMPS?

?ﬁﬁ%ﬁa%ﬁ%qwmﬁ&mswsﬁm

(A) Volume and weight for identical input and output ratings.

T $YE 3R $T3eye e & iy Smaa SR YR

(B) Dynamic regulation of load.

drs & Tiaid fafaae|

(C) Efficiency over entire range of load.

S &1 G el IR &

(D) Protection of equipment on high impedance load.
I Uil YR TR SUBRN b YRET|

A depletion layer that builds up across a p+-n junction lies
T p+-n SR H §7 aTell U 3ded URd gl

(A) equally in both the p and n region.
QT p 3R n &7 H I FU A

(B) mostly in p region
STEIR p &8 H

(C) mostly in n region

TR n &7 H

(D) entirely in p region

TRV p &7 T

Diffusion current in silicon depends on .
faferer & oo Rwem) orr . wfnRaRA R

(A) the electric field

B)

©

©
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faggq &=

(B) external voltage

16 dlees

(C) carrier concentration gradient

dleeh Hldl Yquidr
(D) both the carrier concentration and external voltage

3l I8P T 3R d6d) dieedl

In a biased semiconductor, the drift current is .
TP TO%S Siefas |, ¥9g 4Ry (f(fwe #ie) B

(A) equal to diffusion current

oo (FewRIe) 4T o SRTaR

(B) temperature dependent
am fiR

(C) temperature independent

GIBESREI

(D) greater than diffusion current

oo (Fewrger) uRT ¥ S1fdes

Which of the following processes can be used to form shallow P-well or
N-well regions for the fabrication of IC in CMOS technology?

CMOS WﬁlC%ﬁW%W%P—WellmN-well ?-ﬂalfaﬁ
T & fore o & T fo5 ufsanait &1 Iugin fovar s 9 32

(A) High energy ion-implantation
I Sl ATTA-

(B) Low energy ion-implantation

9 Soif Sm-gaR T

(C) High energy sputtering
I Sl HUI &Yl

(D) Low pressure chemical vapor deposition

9 gara Imrfe arg g

Which of the following material is considered most suitable material for
RTDs used in laboratory and why?

frufefad o @ o1 It wrh yavr=rar § Judi fay U RTDs & for
T IUGard Tt AT 7T § SR a4l

(A) Copper, because it has low resistance.

PR, Fifs 3IH HH URIY BT B |

(B) Platinum, because it has high accuracy, high temp range and available

B)

(B)

(B)
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in pure form.
%%ﬂﬂ,ﬁﬁasﬂﬁaawﬁfw,ﬁwm%aﬁﬁ%w
¥ IUa= B

(C) Mercury, because it is liquid at room temperature.

TR, Hiifch T HH P ATTHM W R 2|

(D) Nickel, because it has highest accuracy and highest operating
temperature range.

g%,aﬁ%sﬂaﬁmwﬁwaﬁ?ﬁaﬂwww
|

Which one of the following options is INCORRECT regarding any digital
type of instruments?

g famcal & A o 91 fdb ey fordl) +ff fEfored YR & Iuesun &
TR I e 82

(A) Observational error is minimized or almost zero

3fadieh Ffe gAaH a1 T LI & |

(B) Accuracy can be altered

Y&l SG il o Febell

(C) Can present the precise value in overall range

T S A 9éle a aifd §
(D) Loading is less

YRUT (HFET) 4 B 3|

What would be the reading display of 0.5864428 on 1V range in four and
a half digit voltmeter?

1 VS Pt B e TR (b lecHie’ H 0.5864428 U137 U=l (&
&) R gm

(A) 0.586
(B) 0.58642
(C) 5.864

(D) 0.5864

Which of the following given measuring instruments/transducers cannot
measure AC value?

fafoiad & Q ®F 1 AUE IUSHRT / TYED (TRGAR) T AC HH BI
AT Y GhelT 52

(A) MI type Instrument
TH. 3. <ITY 3UHUT

(B) PMMC

©

D)

(B)
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(C) Electrodynamometer

~

(D) Hot wire ammeter

gic IR THEY

In a two wattmeter method of power measurement, what will be the effect
on power factor of the system if reading of one wattmeter is doubled and
that of other is halved?

UTaR HIUH o & dicHieR fafd #, afe ue dleticr &t AT R 8l
T 3R AR & 3A1eft BY o1 o ReH & UTaR Trde” TR T UHTd B2

(A) Becomes 2.5 times

2.5 AT 8 ST B

(B) Depends on initial power factors

URfYP TR Thaek R AR HRar g |

(C) Becomes 4 times.

ATATRI ST &

(D) Depends on the initial reading of the both watt-meters

I dieHer & URfYS S R AR Frarg |

In a fundamental period of a signal generated by a linear time-invariant
system, the magnitude of the signal is 5 units in the positive half cycle and
5.5 units in the negative half cycle. The Fourier series of the signal
contains only.

TS S JHI-3Fd YUl (CTSH SHaRUe RieH) gRT 3 e &1
Hifere safy (hemed Tiae) , IoRIE® o8 7% | Rya &1
URAT 5 3hT8aT 3R THRID 318 b § 5.5 3b12Ti gl & | R
B B Aot o haa

(A) sine terms of odd harmonics

fauw gHi—eg & Agd ew’f

(B) cosine terms of odd harmonics

faun gifeg & ST o

(C) sine terms of even harmonics

JH g & T3 TRy

(D) cosine terms of even harmonics
TH BT & pIaTed R
Identify the FALSE statement regarding the RS232 standard.

RS232 HF& & &Y H T faavur 1 ugem & |

(A) It is used for establishing the way data is coded.

BT ITUIT ST P HIS B P -] & (o8 fordl SraT g

(D)

(A)

©
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(B) The data transmission rate is decided by the standard.
ST TRIRYN &R M gRT 74 fha S g |

(C) It defines the value of signal current.

Ig RITd 4R & A BT uRHING AT B

(D) The standard connector configurations are defined specifically.

A% Tais o= faviy =0 ¥ gRyiid far man g |

The service routine for a certain interrupt starts from a fixed memory
location. The service routine is not possible to set externally, but the
interrupt can be rejected or delayed. The interrupt is

Wwﬁ@awﬁﬂﬁﬂﬁ?m@ﬁﬁmﬁw@?ﬂ%
U Y A B & 1w Iidg 7 Tva 781 8, AT SRy &
IR 3R ITH fcie fovar o Goba1 81 Sexp 21

(A) non-maskable and vectored
BIG|

(B) vectored and maskable

IR 3R AEhsA

(C) maskable and non-vectored

TR 3R A1 Jae

(D) non-maskable and non-vectored
1 TR et 3R A dde”

Identify the TRUE statement(s).

. Flash type ADC is the fastest data ADC.
2. The execution of the instruction CMP B takes minimal time.

devices.
. Current mode logic gate family is the fastest logic gate family.

Tl WU B TEAE w4
1, weel WA Y ADC Tad 3 521 ADC 3

2 f&5&w CMP B & Traegas & =gaa# 9ad fn B

3 e @ HmfEr suwrelt Wy 7 S F O AR gRTREADY fHrad

T I o o R
4.y Fafly =it e ufEr Tad o= |itas i tiER )

(A) 1

(B)3,1and 4
3,134

(C) 3 and 4
3 3R 4

(D)2,1and 4
2,13 4

1
2
3. READY signal is used by the microprocessor to operate with the fast operating
4

B)

D)

(B)
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In an 8085 microprocessor, the SP is ABCD H.

PUSHB
XTHL
PUSHD
JMP FCTOH

At the end of execution of the sequence of instructions, identify the contents of the stack
pointer.

8085 ASEWEEL#H, SP ABCDH &

PUSH B
XTHL
PUSHD
JMP FCTOH

T 2if % eI & fFaig e & 370 31, T ulged 61 el 1 ugaE w1

(A) ABCTH
(B) ABCY H
(C) ABCB H

(D) ABCC H

The Maxwell’s equation which is derived from Ampere law is

ARrael BT e off TR e @ e mar @ g

(A)
Div(f)=H
(B)
Div (H)=J
©
Curl(D)=B
D)
Curl(H)=J

The roots of a negatively over damped second order system will lie
on

THh BUTHES 3fd-aaf<d Jodhe e Yura (nfeda HiaR SHg
IS 3ieR Red) & gd IR Ryq i |

(A) the positive real axis
YT aRdfde 3181

(B) the negative real axis
BUIHD dRATdh &

(C) left hand side of the complex plane

D)

(A)
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Ty gAdd & 914 fG=m &1 3R

(D) the imaginary axis

PHTed-d e

Statement1: If any coefficient in first colurmn of the Routh array is zero, now replace
zero by smallest positive constant.

Statement2: For abrupt ending of Routh array, an awadliary equation s constructed and
differentiated to get new coefficients of Routh amray.

Fuert: ofy sy Y 6 e Uf 9 ES A oFw b, A 3 E ) aa wa
Y=ATcHS [=adie & Wiasamd i1l

FUF 2: TEY WY F 3F TA04 F o, o Heres T & A R
% 3T sy o7 @ = qene w e & R ke G e b

(A) Statement 1 is correct and statement 2 is incorrect.
HY | T & 3R YT 2 e &

(B) Statement 1 is incorrect and statement 2 is correct.
HYF 1 7T B 3R HY 2 TE B

(C) Both statement 1 and statement 2 is correct but statement 2 is not the
correct explanation of statement 1.

S BY 1 3R HYF 2 TEI € Al B 2 HUT | BT ! WHIHRT
T gl

(D) Both statement 1 and statement 2 is correct and statement 2 is correct
explanation of statement 1.

I BYUT 1 3R BYT 2 TET B 3R BYT 2 HYUT | BT & WHPRU 2|

Which of the condition is TRUE for a stable system?
T RR ol (Rod Rikew) & g i O Ry g 82

(A) Phase cross over frequency is greater than gain cross over frequency
for both positive phase and gain margin.

gTfoifed Uref 3R 7 HIfol & forg, e 1 3HiaR Wi aT o1 {19 39
BT SR WIHE T e |

(B) Phase cross over frequency is greater than gain cross over frequency
for both negative phase and gain margin.

Afed ot 3R 717 A o oY, Tl 1 Sffar Wiebd! b1 A I
EARICICREG R AE AR

(C) Phase cross over frequency is less than gain cross over frequency for
both negative phase and gain margin.

g ol 3R T Ao & o, B 1T 3iiaR Wievd! BT A T4
B 3R BIHA A HH |

(D) Phase cross over frequency is equal to gain cross over frequency for
zero phase and gain margin.

SR Bt 3R T[Sl & g, et b1 SfiaR Widhat &1 {1 39 i
3R Wi b RIeR g

©

(A)
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The temperature sensor in an air conditioner works as . A)
TP TR SRR A AUAH Gdah & U H HH AT 5
(A) feedback element

S ERE

(B) actuator

(C) control element

T sraga
(D) input element

TYe 3qad

Which of the following is CORRECT inference for the given statement?
Consider the statement, “A passively realizable reflection coefficient can
be plotted as unique point on the Smith chart.”

fraffad & @ 19 a1 3T T Sy & forg 98 82 v Afssa
g gfafde Qutas ) Tore Ry ard R sifgdia fig & Tu d
Smaford fopar S par g1

(A) Reflection coefficient greater than or equal to 1 can be plotted.

1 3 3t a1 sRTeR fafde Qe ) Tunies maferd frar ot gahdr g |

(B) T=T'+1
T=T+1

©

(C) Reflection coefficient less than or equal to 1 can be plotted.

1i?G?gHTG?ﬁ?EFHa?EﬁHﬁ$§@NFﬁGHZD{BWHE3ﬂﬁﬂﬁﬁﬂﬁ$THGﬂ
JHd1 gl

(D) Transmission coefficient has to be less than or equal to one for the
point to be located.

fag & e Farur (ciaffRm) oiie Ue ¥ &4 I1 sRIeR g1 d1feu|

Identify the nature of the electromagnetic waves, if curl is non-zero and
divergence is zero.

fagga B I &1 Upla & Uga &, IS Fdl SR & 3R
SIEERER RG]

(A) Irrotational, Solenoidal

E

©
(B) Rotational, Divergent.

E

(C) Rotational, Solenoidal

5

(D) Rotational, Divergent

5
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Probability of error in BPSK process decreases, when
BPSK Ufeham § e &) UiRieea &4 g1 Wil ©, Sfe

(A) distance between two symbols 0 and 1 increases.

3 fagY 0 3R 1 & g &t gl 91g Sl |

(B) distance between two symbols 0 and 1 decreases.

Afgio R 1 F TP R FH B AT B

(C) energy of bits decreases.

ST 3 Sl A B S

(D) isolation between symbols 0 and 1 decreases.

forg 0 3R 1 & T HT GUTHR (ST HH & AT & |

Choose one correct option.
Statement |: FDMA and FDM are similar terms. There is no distinction between them.

Statement li: FDMA is an access method in the data link layer that utilizes the concepts
of frequency division multiplexing.

T Tl faeed g1
FUT |: UERTAT 3 CEEA AT SedTen £ 3e1h a1 S g 8T 2

e |1: TwsteRl Ser ol i F oa it R b A anafea fsnam agdda (freasdt
fEdras Acdooiagan & fEgrd 1 STaRr T d)

(A) Statement I and Statement II, both are correct.

HYT 1 3R BYT 11, Gl Tet g

(B) Statement I is correct and Statement II is incorrect.

HYT 1 T 3R HYF 11 74 8

(C) Statement I is incorrect while the Statement II is correct.

HYT 1 TId § TP HYT 11 T8I 5

(D) Both statements are incorrect.
QI B T § |

(A)

©

(B)
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A time division multiplexing system is to be designed to multiplex the following three
signals.

¥, =25c0s(1500:t)
¥, =20cos (20007t |cos( 4200t )
2y = 20sin( 4100zt ) sin( 350024 )

What is the minimum sampling rate?

T AT RIS ArC T T EeeH T ST o Tihal @ AeeTee Wi i
fere fesmsa foFa Smar )

¥, =25cos(1500xt)
%, = 20cos(2000xt | cos(4200t)
¥, = 20sin(4100xt ) sin( 3600t)

THATH AT oX (dufe ) 7= 2

(A) 3800 Hz
3800 Hz

(B) 7600 Hz
7600 Hz

(C) 4200 Hz
4200 Hz

(D) 3000 Hz
3000 Hz

Which of the following statement(s) is/are true for GSM based mobile
communication?

(1) It involves the division of a frequency band into multiple bands.

(i1) It involves the allotment of same frequency channel to different
subscribers by them into multiple time slots.

(iii) Carrier spacing frequency of GSM is around 1200 kHz.

(iv) GSM is typically based on CDMA while UMTS is mainly TDMA-
based.

(v) The OSS is an element within the GSM network architecture.

(vi) Modulation efficiency of GSM is less as compared to the UMTS
technology.

GSM 3R AaTsd T9R & fort FufiRad § 9 o9 91 $y= 93 82

(i) STH 3MgRY oS F1 FH3 dsi A faHre M |

%i)sﬂﬁaw-wmﬁﬁw%wwﬁammwﬁ)
A

(iii) GSM 1 HTR WY Widdt TIHT 1200 fFages g

(iv) GSM 3R TR CDMA WR TR BidT § Siafes UMTS T &4

Y TDMA TR 31eTRRd gar |

(v) 0SS GSM “eads 3ffhearr & Hidk T da ]

(vi) (gSMﬁHT@ﬁWE{&IﬁTUMTSW(%ﬁﬁTGﬁ)ﬁwﬁ

FARI

(A) (iii), (v) and (vi)
(iii), (v) 3R (vi)

©
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(B) (i), (ii), (iii) and (v)
(), (i), (iii) 3R (v)

(©) (i), (ii), and (v)
(i), (ii), 3R (v)

(D) Only (v)
&Had (v)

The beam width of the parabolic reflector is the frequency.

RAAIS WRIddd (GRS NUddeR) B aiF fagy , afa &
gl

(A) directly related to

(B) inversely related to

(C) directly related to square of

(D) inversely related to the square of

What is the far field radiation term in the expression of electric field in a
small loop antenna?

gﬁmmﬁﬁwwﬁﬁmﬁgmmww

~
ko B 0 3>
SN

(B)

(A)

©
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S-band radar is being transmitted at 4 GHz; it radiates a power 150 kW and having
effective area 7 mé. Determine the signal power density at the range 100 and 400
nautical miles.

5-f5 @R 4 domees @ waTiE BRI ¥ Tw 150 Teeare faeeh & fafeie
e ¥ 3 somr vemdt & Tm? ¥ faeaw wo SR @ =y 100 3#R 400
Henl A I @]

(A)
2 8mW/m* and 0.7 mW/m?

(B)
36.8 mW /m* and 9.2 mW /m?*

©
10.8mW/m* and 2.7 mW/m*

D)
12.8mW/m* and 3.2mW /m*

What is the important application of a multi cavity klystron?
TRt Hiact faaeeT= &1 Hgayqu SHUaNT 31 82
(A) Satellite Communication

(B) R.F generator in microwave transmitter circuit

GEATIT Ues URTY (ATShIdd ThHIeR |idhe) | 3RUTG S ve”
(C) Local oscillator in microwave receiver circuit

YeHaYT Tae! uRuy (ArEpldd Reflay wfthe) A didd e
(3TDIAC)

(D) Coil formation in helical resonators

HSUIBR fIGH XHTeR) # Husa &1 fAmfor

In equivalent circuit of BJT hybrid p model, what operation is needed for
modeling the effects of charge storage?

o fifyd ersfse) o Aiee & Grep e afdbe #, 3maw Herur
(RIS & THTA! o UiaRegur (ATsfei) & forg foeg
TTer 1 Al 22

(A) Adding parasitic capacitors to the low frequency p model of BJT
equivalent circuit.

Siore Ta®mE URUY & HH ghl Ul Aled R 3™ (RRfcH) duia
P SIS

(B) Applying short-circuit between the collector to the emitter.

(A)

(A)
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HAdeR & A1 ISId b [o1T Tc-Hiahe BT ugad BTl

(C) Adding the base spreading resistance.

I DT ufeRiy B S|

(D) Adding the intrinsic base emitter resistance.

TAR® 3MYR I UfaRIe S|
Which of the following is NOT a property of discrete cosine transform
(DCT)?

%’?@@ﬁﬁﬁﬁ??ﬁﬁﬁaﬂ PIATS TURS (SHTeh) 1 o=
?

(A) The DCT is real, symmetric and orthogonal.

SRt arafaes, T (Rmfew) iR arawmivhia (@ndfme) 21

(B) The DCT is the real part of the DFT.

RN U BT aRdfd U R

(C) The DCT has excellent energy compaction for highly correlated data
sequence.

SR T Sl Teuias el & I o o1 SFHY ol
TS §

(D) FFT can be used for fast computation of DCT

THUGC! H1 IUUNT SRS &) ot 70T & for fovan o1 gean @

Identify the element which is NOT the part of the Quadrature mirror filter.

39 3fagd B UgdH B3 ol SlaaR Ufaferd fheex & wafid T8t 3|

(A) Low pass filter
&l U fthee

(B) Decoder
(C) Quantizer

(D) High pass filter
RERISAE ISR

What is the relation between cut off frequency (£.) and the frequency (f) of a wave
propagating in hollow metal waveguide with transverse electric mode?

Fe 3w i (f,) 37 oE e g § as # gaed seftos A g
(f) dF dd == b

(A)
f<f,

(B)

©

©



D)
f>2f,



